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L Hypotenuse )

o
The longest side of a right triangle is
the hypotenuse. It is always the side
opposite the right angle.
AC is the hypotenuse in the example.
A Hp
Identify the hypotenuse of each right triangle.
Er F H K
G
J L
D I
hypotenuse - hypotenuse - hypotenuse -

Devan measures the sides of a right triangle. Side MN
measures 12 cm. Side NO measures 13 cm. Side OM
measures 5 cm.

Which side is the hypotenuse?

40°

92cm
hypotenuse = 9 cm

What is wrong with the illustration above?
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ANSWER KEY

-

L Hypotenuse )

The longest side of a right triangle is
the hypotenuse. It is always the side
opposite the right angle.

AC is the hypotenuse in the example.

A Lp

Identify the hypotenuse of each right triangle.
E F

D I

hypotenuse - L hypotenuse - ﬂ hypotenuse - L

Devan measures the sides of a right triangle. Side MN

measures 12 cm. Side NO measures 13 cm. Side OM

measures 5 cm. —_—
Which side is the hypotenuse? NO

40°

92cm
hypotenuse = 9 cm

What is wrong with the illustration above?

The friangle AXYZ is not a right triangle. Only a right triangle can have

a hypotenuse.
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